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Probability and Statistics in High-School and

University Level Mathematics

goboboobogon Mg oo

Abstract

“Probability” and “Event” are words of daily use. However these words in mathematical
theory are different from those of daily use. Though the course of probability and statistics is
well arranged in Japanese high-school mathematics, we notice that definition of “event”in the
course is not proper. Standard university level mathematics are composed of linear algebra
and (differential and integral) calculus, and probability and statistics are usually set up as
an independent course. In this short note, we propose a way to treat events properly in high-
school mathematics and set up, in university level mathematics, the course in good relation
to other mathematical courses.
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